202158 MFEREXRAZ 218 (U-18) Yy N—K=&

[ &8 ]
AXE 35-10-35
Bt I KA SE A HAEIE R
iR O - 4 - o - 3|0 - s]ols3]o 0 [12[-12
rUJLwH[4 - O 2 - 2|2 - o0 - 210 1 8|2 6
i - 2 - 2 - O - 4ffof[1[H1 116] -5
RERFE 3 - 0|0 - 2 - - 1110 32 1
BIA 5 - 0 - 4 - O - 2lo]o0 9]l0] 9
BAZ 35-10-35
Bt ~UJLyS| FB RAEE B2 HEIE R R
iR O - 4 - 2 - oo - of+1[1]H 24| 2
rUJLwH[4 - O 8 - 2|7 - 1 - 3|00 19| 3| 16
i - 2 - 8 - 1 - 7]ol2]o0 3|15]-12
KR E o - 2|1 - 7 - - 0|2]0 119] -8
§a:A O - O - 7 - 1 - 10| 1 711 6
01858 GK) <H—HE>
ARE UL AREp | B
NG 7
V| =¥ = -
= ™ o3| B# | O _ 4 | TRP
B 311 A isE TEEE 19 |t9E
fiz — 1oo|  E#E | O ) 4 | TRP
ﬁ 51u B %L‘t }B% %i $QE *QE
12:20 BB % @I%
1220 HifE | O : 4 | EBA
A [ ] B 188 |18E
1350 | =2 ==150
B [@% rUTLyS — e | mm
X T P 1400  HiE 1 ~ 7 EG5A
2 211 &% B 1e00 | EE 1By EBE #8E | ®E
| 3y = s [ BB
& —
v 41
%= | 5fi1

XRGRE=5—185 KABRIN=REHE



01868 (K) «KHLE-HB» 018168 (B) £E=HB8>
RE Z*E? UL e I P E‘E? st KL | =0
o0 B | O : 5| B os0| & | O - 3| &
AT TEE T 88 | 18E Al TEE A BE 85 |85
Bim L | RiZ B & | BB
oss| =g | O ~ @) EIPYN ool iR | 2 ~ @) A%
B — sz e B5 95| | B —fgz TEE 18E |8
1215 — - = 1220 — - =
Bim L | RiZ Biz L | Bin
12200 ¥E | A ~ 3 R 120, TRP | 2 ~ 2 EIIRE]
A o e f8E | 18E A o TTEE {8H |f8E
1340 = - = 1350 — - =
Bim L | RiZ Bim L | Bin
1345 HE | A ~ B 1400, TRP | 8 ~ 2 EIIRE]
B o e f8E | 18E B - TTEE {8H |f8E
1505 = === 1520 [ — == =
Bim e | RiZ B & | BB
1510 B | A ~ 6 TRP
M =s EEET 88| Ba
16:30
Bim L BB
1635 HFE 0 : 0 TRP
FM s TS 195 | 85
1755
Bim L BB
XRGRE=F TS XEBRIN=RRZHE XEBRE=F—HS XREBRIN=—REHE
018238 (B) LEmga>» 018318 (B) LKFEHhBHBE>»
RE Z;EDTE‘ UL P27 I P :;ané st KL | =0
930 TRP | 2 ~ 0 BIEK 930| TRP ‘ ‘ - ‘ ‘ EmIA
A e g BE |88 A = 188 |8R
1080 =2 o = 10850 =
Bim e | RiZ B
1100 TRP 7 : RIER 10555
B i g BE |88 B = 188 |8R
1220 =2 === 1245 =
Bim L5 R B
1280 T F= ‘ ‘ - ‘ e 12:20
A = IH|188R FM - 188 B8R
1350 | = 1340 =
14.00 ¢ 1345
B = IH|188R FM - 188 B8R
1520 | = 1505 =
..., . B
1510
FM = BH 8H
1630 =
Nzl
1635
FM = BH 8H
1755 =
Nzl
KRG RBE—F 18 XEBRIN=RREZHE PR RIS




